SmallRig

SmallRig

Mobile Video Cage Flagship Edition
L ASRIA RAZEA AR

Operating Instruction / #21E353|




Thank you for purchasing SmallRig's product.

Warnings / E2127R

Please read this Operating Instruction carefully.

HARFIERIRIEIESI.

Please do not use the product in water because it is not dust or water proof.
BOEKPER, AFRAREHE. BiKIDEE.

Do not let the product fall to the ground, be hit, or suffer a violent impact.
B RIS E R, REEERRIPE.

Product Description / F*G@ 43

Introducing SmallRig's iPhone 16 Series video cages, tailored for iPhone 16 Pro /
Pro Max users seeking professional video and live broadcasting solutions. This kit
includes a protective phone case, a specialized video cage, and a protective rubber
frame. The phone case ensures daily phone protection, while the standard T-mount
lens backplate allows for easy attachment of external lenses. Interchangeable with
a 17mm threaded lens backplate or a 67mm magnetic filter adapter, this T-mount
lens backplate supports attaching various optical accessories. The cage can
accommodate the phone within its case, granting unobstructed button access
during shooting and providing all-around protection with a precise fit. Featuring
several cold shoe mounts and 1/4"-20 threaded holes, it supports attaching various
accessories like lighting, microphones, tripods, handles, straps, and more for
versatile shooting setups. Compatible with standard 1/4"-20 screw-connected
handles or tripods, it also integrates seamlessly with the SmallRig quick release
ecosystems providing more efficiency.

XiRfEFASmallRig iPhone 1615 E AARIEEMMR, ARMHENFNEWITAR
REARAR. MRIEEFRFNRIPS. FIRRENREIEEAN. FIRPR
TTAFTURME BRI, HENTROFLBRTART R OMEHOFNINERL,
HRATIFEF B 1 TmmIRBUERSL IR W6 T mmBE IR G RN, TARESHF
&, FNTHRRNARIERR, ZARIERPhone 16 ProRFIEEIRIT, HR
NARIMFNREER, BENFIRBATUANSHURSRP, BIER L
B HOFN/4"-20 SRFL, IRRIEEFVRBIUSHHARITE. ERN. =HZ.
MFEHE,. LFR. BH. BHFRE, BEFHREN=HREEHENGR. 1
RRFR EFIR/ZHZREY, ARANEIHEIEM/4'-20 BLEENFR/ EFiR/
ZHIZR, th3FFSmalRigEABIFESR S, HERE, .




In the Box / 8%

FilMov Phone Case (with T-mount Lens Backplate) x1
FilMov #&F M7 (BT RAER)

Video Cage x1 Protective Rubber Frame x1
FNERARE HERME

Trim Ring For Camera Lens x1 Operating Instruction x1
FLRIE #BAFES|

Guarantee Card x1
REF

Product Details / =R+ 43
Cold Shoe Mount / REO

Buttons  ---------~
il

QR Mount  ------
RO

PRESS Button.--
e

Unlock Button---
EROHRE

Rubber Frame-------
BiiE

T-Mount Backplate / T 1R

Slideway ---
Decoration

et Eses

Trim Ring ------- !
FSLRIRE




Product Installation / =G %&%%
1. How to Use with a Phone Case | #FH5—iefER

(1) Phone Assembly: Insert the phone with the case into the cage, as shown in the
picture, and secure it by pressing the "PRESS" button.
(Ensure the "PRESS" button is unlocked before mounting the phone).
RAFH: BHROFNMERSEMARRIE, REPRESS SiERTM 8.
(AFHZHE, BEHIR PRESS KA FARIURT)

A The side with "PRESS" printed on the left is the front side. When assembling,

please follow the directions shown to mount the phone.
ERFNESERSPHARIEERSHE, ZMENE PRESS I —HEVIEM.
LREERRER S EEAF,




(2) Phone Disassembly: Toggle the unlock button down, causing the "PRESS" button
to pop up, then remove the phone.
ERHFN: @ TRaDMBGRE, "PRESS” 12HM L3, MEREHFL.

Unlock Button
EROHRE
(3) Attach an External Lens: Align the external lens with the main camera mount

or telephoto mount, and rotate clockwise until securely in place.

fERSMERSL: BIMERSERSL RO EBUHIKRN, IR IEEEER
ARAREREEL.




(4) Replace the Lens Backplate: Push up and remove the lens backplate as shown
in the picture, and replace it with a SmallRig 17mm threaded lens backplate
(ID 4992) or a 67mm magnetic filter adapter (ID 4993) according to your needs
BRESLER: WEFURE DS ESLEIR, RBERFRERA
SmallRig 17mmiELHERELER (1D 4992) sh67mmBLIRIEREIER (ID 4993) |
BNTI{E R AE R BYIME R L IR

Trim Ring For Camera Lens
(Included)
FLENE (BEHES)

17mm Threaded Lens Backplate
(Sold Separately)
17mm BEELER (FSMW)

67mm Magnetic Filter Adapter
(Sold Separately)
67Tmm BLRREEER (F5M0)

2. How to Use without a Phone Case | ##1{EF
When heat dissipation or water exposure is required, it is recommended to use
the phone without the case, but in the cage only. Please follow the steps below:
HBEAFNEGHASNERN, HFRNENIRRIEER. BIERESINT:

(1) Phone Assembly: Insert the phone with the rubber \
frame into the cage, as shown in the picture, and
secure it by pressing the button.

(Ensure the "PRESS" button is unlocked before
mounting the phone)
RAFI: BFN GRH) RALBIES,
AEMERSEEFIRABRIE, RE
“PRESS” #&iH7e A L8,
(BAFNZHI, EHR PRESS IREALT
BRI
Protective -------

Rubber Frame
e




A The side with "PRESS" printed on the left is the front side. When assembling,

please follow the directions shown to mount the phone.
RRFNSSERDYHARIEERSSE, A MENH PRESS' W—ENIEH.,
RREBRBER S EEAF.

(2) Phone Disassembly: Toggle the unlock button down, causing the "PRESS" button
to pop up, then remove the phone

BRHFH: @ TRENFRSERE, ‘PRESS” 1RHM L3, BEEEELF.

Unlock Button
RRAHRER




(3) Incorporating External Lenses or Filters: The cage comes with a T-mount
Backplate for T-mount exteral mobile phone lens usage. To incorporate 17mm
threaded lens or 67mm filters, the 17mm Threaded Lens Backplate for iPhone
16 series Cage (ID 5009) or Magnetic 67mm Filter Adapter (ID 5010) is required
(Note that the baseplate and the adapter are sold separately). Remove the
T-Mount Backplate on the cage as illustrated, and insert the replacement
backplate to facilitate the use of external lenses or filters.
fERSMERLIRE: BRIERERTROGRLER, IERTROIMEFNGL.
AFEA1TmmIRGERS 6 TmmIBREER, BNLRMRHENRRIEITmm
I2LUESLEIR (1D 5009) SIRRIESTmmIBE R (1D 5010); WEFTRENT
AREGRLMNT-RORLER, BARTBRNERATEBINERLLRE.

17mm Threaded Lens Backplate
(Sold Separately)

17mm BYFLER (W)

{ 67mm Magnetic Filter Adapter
(Sold Separately)
67Tmm HIRRELER (FSW)

A Please note:

When using the cage with the third-party case or the SmallRig FilMov series
case, the lens protection on the case may interfere with the lens backplate
of the cage. Please check before use.

IR

EHIRRIESE =S FH=HSmalRig FilMovRFIFH S —IEER,
FHsENRLRIPRIT TR SRRERLERTETY. EB
BRI,




3. Wristband or Shoulder Strap Attachment | {EFBE# sk /B #

(1) Wristband Attachment: Insert the wristband rope into the wristband hole at the
bottom of the cage and secure to use.
fERpEE: SRR ARRIEANESNBRSEIL, &K PR,

(2) Shoulder Strap Attachment: Insert the shoulder strap rope into the shoulder
strap holes at the top and bottom of the cage, secure to use.
fERER: BRHESIRABRIEANREFRINRBSTIL, K EEHIER.,

Shou\der‘S(rap Hole
=kEEN

4. Expanded Functionality | {A/RIN8E

(1) There are multiple standard 1/4"-20 threaded holes on each side of the cage
for attaching side handles, top handles, and tripods with 1/4"-20 screws. There
are two standard cold shoe mounts on the cage for attaching accessories like
lights, microphones, and more.

TERRAEIOIE R _EHBIEIME/4"-20 88487, BFIRRLA/4"-20 R
FE. EFRN=MR. AREG2MIESHO, BTRRISHIERN
. ERNFRE.

(2) Quick Release: There is a quick release interface on each of the four sides of the
cage. The quick release interfaces incorporate with the 1/4-20" threaded holes
on the cage, facilitating the usage of SmallRig's unique Quick Release Ecosystem
BIFAR: TRREMER EHBIE1MRIFRE, FESIER E1/47-20
BOFLAERS, TTRESmalRigEENRIFESRS.




(3) Quick Release Lock: Align the locating pins of the quick release adapter with
the upper and lower 1/4"-20 threaded holes on the cage, as shown below, and
press the handle. A distinct "click” sound indicates that the side handle has
been securely locked into the cage.

BRIFGIRE: BPIRRE L ERE AN SRR LAY E AN /47-20 82473,
MR ENFREERIFHNA L IR0, R\HHNISHINBAREFE.

* The handle is sold separately
*FEEFH

Specifications / FFREE
4828 [iPhone 16 Pro]

Product Dimensions 6.6x3.6x0.5in

FERERRY 168.6x90.6 x 12.5mm
Product Weight 56020z

FREER 159.0+5.0g

Material(s) TPU, PC, Leather, Aluminum Alloy
EEBHMR TPU, PC, &, B8

4827 [iPhone 16 Pro Max ]

Product Dimensions 7.2x38x0.5in

FEREARY 182.0 x 96.8 x 12.5mm
Product Weight 6.2+0.20z

FROER 1760509

Material(s) TPU, PC, Leather, Aluminum Alloy

E) TPU, PC, ¥, BaS




Phone Case Specifications / FHl5£%

4828 [iPhone 16 Pro ]

Product Dimensions 3.1x6.0x1.5in
FRRY 79.7 x 153.6 x 39.4 mm
Product Weight 1.2+0.20z

=& 350+ 5.09

Material(s) TPU, PC, Leather
EEMR TPU, PC, ¥

4827 [iPhone 16 Pro Max |
Product Dimensions 3.4x6.6x1.5in

FRRY 85.8x167.0 x 39.4mm
Product Weight 1.4+0.20z

2 40.0+50g
Material(s) TPU, PC, Leather
FEHMR TPU, PC, H¥

Manufacturer: Shenzhen Legi Innovation Co., Ltd.

Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50 Guanguang
Road, Longhua District, Shenzhen, Guangdong, China.

HIER: AT RECIROERAT

ot PESTRERYIT L X IBEIEBA X6 1301-50 SFEMTWES 5 5 1
103, 501, 601

Consignor: Shenzhen LC Co., Ltd.

Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road, Xinlan
Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.

8 R RERHARAT

ik PESRERYITRE RIS KW 1301-50 SEMTIVE 5 5 1 602




ATHRAE: GBIT 26572-2011 LQ-P1384-18

RoHS C€ ® <»
@CEMC-L-2F A O

Séparez les éiéments avant de trier
Made in China hE4)E




